2. TFHlT=X1 VA

( Mk i B fE)
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BT =FY 7R (1K

B

(e FEMEA PR )1 R 52hE 57 1)

(B mg/L)

T X ETA 44 tEH INATH
XA R —R 202 203

H1 X 4 A ET T XHih

H[X = 0230 0040

HFES 000100 001600

FH PV EE (m) 6.0 PN

R ZHF EHF

HIEX 5y Z Dt TEAK
BAKFHH H25.7.17 | H25.12.3 H25.7.2 H25.12.6

JKIR(°C) 18.5 16.5 16.5 18.0

AR HE (mS/m) 17.3 14. 8 12.5 8.0

pH 6.0 5.7 |4FMEHfE 6.9 1.0 | FFEREEE
Tuan AR < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
LR igrES < 0.0002 [< 0.0002 (< 0.0002 |<0.0002 (< 0.0002 [<0.0002
ke = 1%/ ~v— < 0.0002 [< 0.0002 (< 0.0002 |<0.0002 (< 0.0002 [< 0.0002
1,2-/unx iy < 0.0004 (< 0.0004 (< 0.0004 |[<0.0004 < 0.0004 (< 0.0004
1,1-Y/onxFL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y/ouxFlL < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
1,1,1-R)rmax=k < 0.0005 [< 0.0005 (< 0.0005 |<0.0005 (< 0.0005 [< 0.0005
1,1,2-RN)rmax=k < 0.0006 [< 0.0006 (< 0.0006 |< 0.0006 (< 0.0006 [< 0.0006
N ZvoxF1L < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
VAl /A== S % < 0.0005 [< 0.0005 (< 0.0005 |<0.0005 (< 0.0005 [< 0.0005
T X ETA 44 INATH INATH
XA R —R 203 203

H1 X 4 T XHih &7 [RET

H[X = 0040 0200

HFEE 002000 000200

F VR EE (m) 30.0 PN

& RH P FHFE N

HIEX 5y TEAK 4 ERAK
BAKFHH H25.7.2 H25.12.6 H25.7.4 | H25.12.10

JKIR(°C) 18.2 15.5 16.1 15.7

AR HE (mS/m) 18.0 15.0 8.9 5.9

pH 6.9 6.8 |FEMEEfE 5.9 5.8 |FRFEHME
Tan AR < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
LR igrES < 0.0002 [< 0.0002 (< 0.0002 |<0.0002 (< 0.0002 [< 0.0002
ke = 1%/ ~v— < 0.0002 [< 0.0002 (< 0.0002 |<0.0002 (< 0.0002 [<0.0002
1,2-/unx iy < 0.0004 (< 0.0004 (< 0.0004 |[<0.0004 < 0.0004 (< 0.0004
1,1-Y/ouxFlL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y/ouxFlL < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
1,1,1-R)rmax=k < 0.0005 [< 0.0005 (< 0.0005 |<0.0005 (< 0.0005 [< 0.0005
1,1,2-RN)rmaxk < 0.0006 [< 0.0006 (< 0.0006 |< 0.0006 (< 0.0006 [< 0.0006
[NEA=i=t= 2% < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
ThZanxTFL 0.0020 0.0015 0.0018 |< 0.0005 [< 0.0005 [< 0.0005
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EHE=FV TRERNCES)  REIEARESR Y a1 R EH552) (H{Z - mg/L)

T X ETA 44 INATH INATH

XA R —R 203 203

HIX 4 R ET FHEHET

H[X = 0340 0350

HAES 001600 001300

FH AR (m) TBH 40.0

e EHFA N EHPE

HIEX 5y 4 ERAK TEAK
BAKFHH H25.7.5 H25.12.6 H25.7.5 | H25.12.10

JKIR(°C) 16.2 15.5 18.2 16.9

AR HE (mS/m) 1.7 13.9 13.5 9.6

pH 5.5 5.4 | 4FEREEfE 5.8 5.8 | 4FMEEfE
A= i=S Y 0 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
VUL iR SR < 0.0002 [< 0.0002 (< 0.0002 |<0.0002 (< 0.0002 [< 0.0002
ke = 1%/ ~v— < 0.0002 [< 0.0002 (< 0.0002 |<0.0002 (< 0.0002 [< 0.0002
1,2-/unx iy < 0.0004 (< 0.0004 (< 0.0004 |[<0.0004 (< 0.0004 (< 0.0004
1,1-Y/onxFlL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y/muxFlL < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
1,1,1-R)rmax=k < 0.0005 [< 0.0005 (< 0.0005 0.0010 0.0008 0.0009
1,1,2-RN)rmaxk < 0.0006 [< 0.0006 (< 0.0006 |< 0.0006 [< 0.0006 [< 0.0006
N ZvoxF1L 0. 005 0.003 0.004 < 0.002 < 0.002 < 0.002
Th7r/aoxFL < 0.0005 [< 0.0005 (< 0.0005 |<0.0005 (< 0.0005 [< 0.0005
T X ETA 44 INATH INATH

XA R —R 203 203

H1 X 44 FHEHET FHEHET

H[X = 0350 0350

HAES 001400 001800

H PG (m) 54.0 34.0

e EHFA EHPE EHPE

JHIEIX 5y TEAK TEAK
BAKFHH H25.7.5 | H25.12.10 H25.7.5 H25.12.6

JKIR(°C) 16.7 15.4 17.5 14. 8

AR HE (mS/m) 20.4 13.9 14.2 13.2

pH 6.1 6.1 AE [ E 6.1 5.9 | 4FREHE
A== Y 0 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
VUL iR SR < 0.0002 [< 0.0002 (< 0.0002 |<0.0002 (< 0.0002 [< 0.0002
ke = 1%/ ~v— < 0.0002 [< 0.0002 (< 0.0002 |<0.0002 (< 0.0002 [< 0.0002
1,2-/unx iy < 0.0004 (< 0.0004 (< 0.0004 |[<0.0004 < 0.0004 (< 0.0004
1,1-Y/ouxFlL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y/muxFlL < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
1,1,1-R)rmmax=k 0.0020 0.0013 0.0017 < 0.0005 [< 0.0005 [< 0.0005
1,1,2-RN)rmaxk < 0.0006 [< 0.0006 (< 0.0006 |< 0.0006 [< 0.0006 [< 0.0006
N ZvoxF1L 0.002 < 0.002 0.002 < 0.002 < 0.002 < 0.002
VAl /A= 1=t 0 % < 0.0005 [< 0.0005 (< 0.0005 |<0.0005 (< 0.0005 [< 0.0005
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EHE=FV TRERMCES)  GREIEAEESR Y a1 RSN 5)3) (H{Z - mg/L)

HIKAT 4 AT AT
HArE—F 203 203

HIX % K BT J\E AT

HX 7 5 0450 0660

A 000400 000100

P m) oL 10.0

e EIE T8 EHE

PRI Sy HE K HEE K

Pk I H25.7.4 | H25.12.6 H25.7.4 | H25.12.10

AKIRCC) 8.3 6.7 18.7 5.7

ERUZHH (mS/m) 9.1 7.9 24.3 17.8

i 5.8 5.9 | WMVE] 6.6 6.7 | &MV
ST <0002 <0002 <0002 |<0.002 [<0.002 [<0.002
MAEDER <0.0002 < 0.0002 |<0.0002 |<0.0002 |<0.0002 [<0.0002
e = )~ — <0.0002_|< 0.0002_|< 0.0002_|< 0.0002_|< 0.0002 < 0.0002
Lo-DyanT i < 0.0004_|< 00004 |< 0.0004_ |< 0.0004 |< 0.0004 < 0.0004
LD an=F Ly <0002 [<0.002 <0002 [<0.002 [<0.002 <0002
LD /an=F Ly <0.004 [<0.004 <0004 <0004 |<0.004 <0 004
DL Rmna sy < 0.0005_|< 0.0005_|< 0.0005_|< 0.0005 |< 0.0005_< 0.0005
Lo Rymna sy < 0.0006_|< 0.0006_|< 0.0006_|< 0.0006 |< 0.0006 < 0.0006
SPEEEEa <0002 [<0.002 <0002 [<0.002 [<0.002 <0002
Fo/anEF L < 0.0005_|< 0.0005_|< 0.0005_|< 0.0005 |< 0.0005_ < 0.0005
HIKAT 4 W& T WS M
HAr=—F 204 204

HERA, AT A FEET

HX 7 5 0010 0010

A 000100 000130

FE PR (m) 6.0 3.0

eI B EHE

PRI Sy HEE K HEE K

K4 I H25.7.10 | H25.12.3 H25.7.2 | H25.12.3

AKIRCC) 14.0 5.8 14.5 5.8

ERUZHH (mS/m) 26.2 37.0 3.9 24.6

i 6.6 1.2 |#MFHE] 6.8 6.9 |V
ST <0002 <0002 <0002 |<0.002 [<0.002 [<0.002
PAEDER <0.0002 < 0.0002 [<0.0002 |<0.0002 |<0.0002 [<0.0002
e =% )~ — < 0.0002_|< 0.0002_|< 0.0002_|< 0.0002_|< 0.0002 < 0.0002
Lo-DyanT i < 0.0004_|< 0.0004 < 0.0004_ |< 0.0004 |< 0.0004 < 0.0004
LI-D/man=F Ly <0002 [<0.002 <0002 [<0.002 [<0.002 <0002
LD aa=F Ly 0.000 | 0005 | 0007 <0004 |<0.004 <0 004
DL Rmna sy < 0.0005_|< 0.0005_|< 0.0005_|< 0.0005 |< 0.0005_< 0.0005
L2 Rymna sy < 0.0006_|< 0.0006_|< 0.0006_|< 0.0006 |< 0.0006 < 0.0006
SEEEEEa 0.005 | 0002 | 0004 [<0.002 [<0.002 <0002
Fo/anEF L 0.055 | 0022 | 003 | 0005 | 00010 | 00013
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BT =FY 7R (1K

B

(RN PR EY)  a) R 52hE 7 4)

(B mg/L)

i XET A4 WE™ mEM

i X E A= —R 204 206

XA 0] 3+ ET IR SR

X 0010 0490

ARl 000140 000100

FEF R (m) 5.0 20.0

& I AP RAF

& X5y ATERK ATERK

PKEA R H25.7.2 | H25.12.3 H25.7.18 | H25.12.5

ZKiR(°C) 15.5 15.6 18.9 12.2

AT (mS/m) 30.6 21.2 16.4 16.6

pH 6.8 7.0 R E 5.8 6.0 | FMHEHE
AEl=5 .5 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
PUHEAR IR 57 <0.0002 |<0.0002 [<0.0002 |<0.0002 (< 0.0002 [<0.0002
ke =1t/ ~v— < 0.0002 |<0.0002 [<0.0002 |<0.0002 (< 0.0002 [<0.0002
1,2-Y/manxi < 0.0004 |< 0.0004 (< 0.0004 |<0.0004 |<0.0004 [<0.0004
L,1-Y/anxzFL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y/anxzF L 0.007 < 0.004 0. 006 <0.004 |<0.004 [<0.004
L1,1-F)rmuxz < 0.0005 |<0.0005 [<0.0005 |<0.0005 (< 0.0005 [<0.0005
1,1,2-’)rmuxz < 0.0006 |< 0.0006 [< 0.0006 |< 0.0006 (< 0.0006 [< 0.0006
KNZonxzF1L < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
VALNZZA= =5 0.010 0.0048 0.0074 0.0005 (< 0.0005 0. 0005
T KT R 44 FIVETH P

i X E A= —R 207 207

XA HITEET EEHT

X 0030 0050

ARl 000500 000600

FEF R (m) 10.0 ~HA

& I AP EHF

& X5y Z Dtk Z Dt

PKEA R H25.7.11 | H25.12.3 H25.7.11 | H25.12.3

ZKiR(°C) 19.0 16.5 20.0 14.1

U (mS/m) 43.0 40.9 33.3 35.4

pH 6.5 6.4 | FEFHVEHE 8.4 8.3 |
AE1=5 .5 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
PUHEAR IR 57 <0.0002 |<0.0002 [<0.0002 |<0.0002 (< 0.0002 [<0.0002
ke =1t /~v— 0.017 0.024 0.021 < 0.0002 |< 0.0002 [< 0.0002
1,2-Y/manxi < 0.0004 |<0.0004 < 0.0004 |<0.0004 |<0.0004 [<0.0004
L,1-Y/anxzFL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y/anxzF L 0.014 0.024 0.019 <0.004 |<0.004 [<0.004
L1,1-F)rmuxz < 0.0005 |<0.0005 (< 0.0005 |<0.0005 (< 0.0005 [<0.0005
1,1,2-’N)rmuxz < 0.0006 |< 0.0006 [< 0.0006 |< 0.0006 (< 0.0006 [< 0.0006
KNZonxzF1L < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
ThIranFL < 0.0005 |<0.0005 (< 0.0005 |<0.0005 (< 0.0005 [<0.0005
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BT =FY 7R (1K

B

(RN BRI E Y  a)1 FR 52HE575)

(B mg/L)

i XET A4 T BT

i X E A= —R 207 210

X4 AT = KT

X 0070 0030

ARl 000400 000400

FEF R (m) 40.0 100.0

& I il il

& X5y ZDith — iR

PKEA R H25.7.11 | H25.12.3 H25.7.8 | H25.12.9

ZKiR(°C) 18.0 11.8 18.0 15.7

AT (mS/m) 38.7 21.1 26. 1 20.5

pH 8.1 7.3 R E 6.6 6.4 | FHEEE
AEl=5 .5 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
PUHEAR IR 57 <0.0002 |<0.0002 [<0.0002 |<0.0002 (< 0.0002 [<0.0002
ke =1t/ ~v— < 0.0002 |<0.0002 [<0.0002 |<0.0002 (< 0.0002 [<0.0002
1,2-Y/manxi < 0.0004 |< 0.0004 (< 0.0004 |<0.0004 |<0.0004 [<0.0004
L,1-Y/anxzFL 0.004 < 0.002 0.003 < 0.002 < 0.002 < 0.002
1,2-Y/anxzF L <0.004 |<0.004 (<0.004 |<0.004 (<0.004 [<0.004
L1,1-F)rmuxz 0.0005 (< 0.0005 0.0005 [< 0.0005 [< 0.0005 [< 0.0005
1,1,2-’)rmuxz < 0.0006 |< 0.0006 [< 0.0006 |< 0.0006 (< 0.0006 [< 0.0006
KNZonxzF1L < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
VALNZZA= =5 < 0.0005 |< 0.0005 [< 0.0005 0. 0006 0. 0005 0. 0006
i XET A4 BT BT

i X E A= —R 210 210

XA, = KT HT = ARET

X 0030 0040

ARl 000500 000100

FEF R (m) T~HH 85.0

& I il il

& X5y TXRAK —HRERH

PKEA R H25.7.8 | H25.12.9 H25.7.8 | H25.12.9

ZKiR(°C) 18.0 16.8 26.0 13.0

U (mS/m) 22.9 18.6 25.8 19.2

pH 6.4 6.2 | FEHHE 1.2 1.4 | FEREE
AE1=5 .5 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
PUHEAR IR 57 < 0.0002 |<0.0002 [<0.0002 |<0.0002 (< 0.0002 [<0.0002
ke =1t /~v— < 0.0002 |<0.0002 [<0.0002 |<0.0002 (< 0.0002 [<0.0002
1,2-Y/manxi < 0.0004 |< 0.0004 < 0.0004 |<0.0004 |<0.0004 [<0.0004
L,1-Y/anxzFL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y/anxzF L <0.004 |<0.004 (<0.004 |<0.004 (<0.004 [<0.004
L1,1-F)rmuxz < 0.0005 |<0.0005 (< 0.0005 |<0.0005 (< 0.0005 [<0.0005
1,1,2-’N)rmuxz < 0.0006 |< 0.0006 [< 0.0006 |< 0.0006 (< 0.0006 [< 0.0006
KNZonxzF1L < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
ThIranFL 0.0022 0. 0024 0.0023 [< 0.0005 [< 0.0005 [< 0.0005
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BT =FY 7R (1K

B

(RN PR R E W) )1 R 52057 6)

(B mg/L)

i XET A4 BT BT

i X E A= —R 210 210

HuX 4, = EhET i fRET

X 0040 0080

ARl 000300 000500

FEF R (m) 100.0 ~HA

& I il I~BR

& X5y TXRAK — R ER A

PKEA R H25.7.8 | H25.12.9 H25.7.8 | H25.12.9

ZKiR(°C) 17.3 16.2 19.5 17.0

AT (mS/m) 25.5 20.0 21.3 17.1

pH 6.9 6.8 | AEHHME 6.5 6.3 | FMEE
AEl=5 .5 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
PUHEAR IR 57 <0.0002 |<0.0002 [<0.0002 |<0.0002 (< 0.0002 [<0.0002
ke =1t/ ~v— < 0.0002 |<0.0002 [<0.0002 |<0.0002 (< 0.0002 [<0.0002
1,2-Y/manxi < 0.0004 |< 0.0004 (< 0.0004 |<0.0004 |<0.0004 [<0.0004
L,1-Y/anxzFL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y/anxzF L <0.004 |<0.004 (<0.004 |<0.004 (<0.004 [<0.004
L1,1-F)rmuxz 0.0013 0.0013 0.0013 [< 0.0005 [< 0.0005 [< 0.0005
1,1,2-’)rmuxz < 0.0006 |< 0.0006 [< 0.0006 |< 0.0006 (< 0.0006 [< 0.0006
KNZonxzF1L < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
VALNZZA= =5 0. 0006 0. 0005 0.0006 [< 0.0005 [< 0.0005 [< 0.0005
i XET A4 BT BT

i X E A= —R 210 210

X4 R RS

X 0090 0090

ARl 000400 000500

FEF R (m) 60.0 60.0

& I il I~BR

FHIEIX 5y — iR Z Dt

PKEA R H25.7.8 | H25.12.9 - H25.12.9

ZKiR(°C) 17.6 14.2 13.5

U (mS/m) 24.3 17.1 18.8

pH 6.3 6.2 | FEHHE 6.5 | AEHHE
AE1=5 .5 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
PUHEAR IR 57 <0.0002 |< 0.0002 < 0.0002 < 0.0002 |< 0.0002
ke =1t /~v— < 0.0002 |< 0.0002 [< 0.0002 < 0.0002 |< 0.0002
1,2-Y/manxi < 0.0004 |< 0.0004 < 0.0004 < 0.0004 |< 0.0004
L,1-Y/anxzFL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y/anxzF L <0.004 |<0.004 [<0.004 <0.004 |<0.004
L1,1-F)rmuxz < 0.0005 |< 0.0005 [< 0.0005 < 0.0005 |< 0.0005
1,1,2-’N)rmuxz < 0.0006 |< 0.0006 |< 0.0006 < 0.0006 |< 0.0006
KNZonxzF1L < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
ThIranFL < 0.0005 |< 0.0005 [< 0.0005 < 0.0005 |< 0.0005
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BT =FY 7R (1K

B

(e FEMEA PR R )1 R 52653 T)

(B mg/L)

i XET A4 BT BT

i X E A= —R 210 210

XA 7 E BT = 7K #ET

X 0100 0130

ARl 000100 000500

FEF R (m) 80.0 ~HA

& I il il

FHIEIX 5y — iR — R ER A

PKEA R H25.7.8 | H25.12.9 H25.7.8 | H25.12.9

ZKiR(°C) 17.0 15.2 22.2 14.0

AT (mS/m) 23.3 17.5 22.1 17.4

pH 6.5 6.2 | FEHHE 6.4 6.3 | FMEE
AEl=5 .5 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
PUHEAR IR 57 <0.0002 |<0.0002 [<0.0002 |<0.0002 (< 0.0002 [<0.0002
ke =1t/ ~v— < 0.0002 |<0.0002 [<0.0002 |<0.0002 (< 0.0002 [<0.0002
1,2-Y/manxi < 0.0004 |< 0.0004 (< 0.0004 |<0.0004 |<0.0004 [<0.0004
L,1-Y/anxzFL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y/anxzF L <0.004 |<0.004 (<0.004 |<0.004 (<0.004 [<0.004
L1,1-F)rmuxz < 0.0005 |<0.0005 [<0.0005 |<0.0005 (< 0.0005 [<0.0005
1,1,2-’)rmuxz < 0.0006 |< 0.0006 [< 0.0006 |< 0.0006 (< 0.0006 [< 0.0006
KNZonxzF1L < 0.002 < 0.002 < 0.002 0. 004 0.003 0. 004
VALNZZA= =5 0. 0009 0.0011 0.0010 [< 0.0005 [< 0.0005 [< 0.0005
i XET A4 BT BT

i X E A= —R 210 210

X4 (RN f BT

X 0380 0440

ARl 000100 000100

FEF R (m) 80.0 60.0

& I il il

& X5y JKEIKIR IXERAK

PKEA R H25.7.8 | H25.12.9 H25.7.8 | H25.12.9

ZKiR(°C) 16.0 16.5 16.5 16.5

U (mS/m) 24.6 19.1 26.5 18.9

pH 6.4 6.5 | AEHEHE 6.4 6.4 | FHEEE
AE1=5 .5 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
PUHEAR IR 57 <0.0002 |<0.0002 [<0.0002 |<0.0002 (< 0.0002 [<0.0002
ke =1t /~v— < 0.0002 |<0.0002 (< 0.0002 |<0.0002 (< 0.0002 [<0.0002
1,2-Y/manxi < 0.0004 |<0.0004 < 0.0004 |<0.0004 |<0.0004 [<0.0004
L,1-Y/anxzFL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y/anxzF L <0.004 |<0.004 (<0.004 |<0.004 (<0.004 [<0.004
L1,1-F)rmuxz < 0.0005 |<0.0005 (< 0.0005 |<0.0005 (< 0.0005 [<0.0005
1,1,2-’N)rmuxz < 0.0006 |< 0.0006 [< 0.0006 |< 0.0006 (< 0.0006 [< 0.0006
KNZonxzF1L < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
ThIranFL 0.0005 (< 0.0005 0. 0005 0. 0009 0. 0006 0. 0008
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BT =FY 7R (1K

B

(RN PR LG )1 R 5206 578)

(B mg/L)

T X ETA 44 Bl =[G

XA R —R 210 210

H1 X 4 BE R

H[X = 0480 0480

HFES 000100 000300

H PG (m) 100.0 1~EH

R FHFE FHFE

HIEX 5y TXRAK TXRAK
BAKFHH H25.7.9 H25.12.9 H25.7.8 H25.12.9

JKIR(°C) 18.5 15.4 16.0 16.6

AR HE (mS/m) 25.6 19.7 26. 1 20.4

pH 6.5 6.6 |FMCESfE 6.7 6.7 |FREEE
Truan AR < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
LR igrES < 0.0002 [< 0.0002 (< 0.0002 |<0.0002 (< 0.0002 (< 0.0002
ke = 1%/ ~v— < 0.0002 [< 0.0002 (< 0.0002 |<0.0002 (< 0.0002 [< 0.0002
1,2-/unx iy < 0.0004 (< 0.0004 (< 0.0004 |[<0.0004 < 0.0004 (< 0.0004
1,1-Y/onxFlL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y/muxFlL < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
1,1,1-R)rmax=k 0.0010 0. 0007 0.0009 |< 0.0005 [< 0.0005 [< 0.0005
1,1,2-RN)rmaxk < 0.0006 [< 0.0006 (< 0.0006 |< 0.0006 [< 0.0006 [< 0.0006
N ZvoxF1L < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
VAl /A== S % 0.0012 0.0008 0.0010 |< 0.0005 [< 0.0005 [< 0.0005
T X ETA 44 Bl =[G

XA R —R 210 210

H1 X 4 BE —IRHET

H[X = 0480 0510

HFEES 000500 000100

H PG (m) 100.0 1~EH

& RH P FHFE Nz

HIEX 5y TEAK —f%Er A
BAKFHH H25.7.8 H25.12.9 H25.7.24 | H25.12.12

JKIR(°C) 20.8 16.3 22.8 13.2

AR HE (mS/m) 28.9 21.8 25.1 20.5

pH 7.0 6.9 |FRESE 7.5 1.4 RS
Truan AR < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
LR igrES < 0.0002 [< 0.0002 (< 0.0002 |<0.0002 (< 0.0002 [<0.0002
ke = 1%/ ~v— < 0.0002 [< 0.0002 (< 0.0002 |<0.0002 (< 0.0002 [< 0.0002
1,2-/unx iy < 0.0004 (< 0.0004 (< 0.0004 |[<0.0004 < 0.0004 (< 0.0004
1,1-Y/ouxFlL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y/muxFlL < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
1,1,1-R)rmmax=k 0.0018 0.0017 0.0018 |< 0.0005 0. 0005 0. 0005
1,1,2-RN)rmaxk < 0.0006 [< 0.0006 (< 0.0006 |< 0.0006 (< 0.0006 [< 0.0006
N ZvoxF1L < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
VAl /A== S % 0.0008 0. 0006 0.0007 |< 0.0005 [< 0.0005 [< 0.0005
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EHE=FVTREMNCES)  EREIEARESRE Y a1 R EHR59) (H{Z - mg/L)

i T A 45 Bl Bl

T A= —R 210 210

HII< 4, % RRRT % RART

HI % 0540 0540

S 000200 000400

S PRI (m) 80.0 60.0

IR B B

&K — KA KB

Bk 1 H25.7.8 | H25.12.9 H25.7.8 | H25.12.9

KIRCC) 17.0 15.8 22.8 13.2

U EH (mS/m) 17.2 14.0 19.3 151

pH 7.0 6.9 [EREHE 6.7 6.6 | RIFHfE
SyHaA <0002 <0002 [<0002 [<0002 <0002 [<0 002
PUSHA e R <0.0002 |< 00002 |<0.0002 |<0.0002 |<00002 [<0. 0002
e =T )~ — <0.0002 |< 00002 |<0.0002 |<0.0002 |<00002 [<0. 0002
l2-vran=r <0.0004 |< 00004 |<0.0004 [<0.0004 <0 0004 |<O0. 0004
Ll-o/aRTFle <0002 <0002 [<0002 [<0002 <0002 [<0 002
lL2-vaRTFle <0004 <0004 [<0004 [<0004 <0004 [<O0 004
111 N7aaxsy <0.0005 |< 00005 |<0.0005 |<0.0005 |<0 0005 [<0. 0005
11,2 N7aa=xsy <0.0006 |< 0.0006 |< 0.0006 |< 0.0006 |< 00006 |< 0.0006
NEEEESa%% <0002 <0002 [<0002 [<0002 [<0002 [<0 002
F1oan=F Ly <0.0005 |< 00005 |<0.0005 | 00005 |<00005 | 0 0005
i T A 45 Ha i B4

T A= —R 212 212

HIIX 4, e B

HID % 0010 0010

S 000400 001000

S PRI (m) 100.0 100.0

IR RIF RIF

&K — KA H5E FK

Bk 1 H25.7.9 | Ho5.12.4 H25.7.10 | H25 12.4

KIRCC) 221 16.5 16.0 16.5

U EHE (mS/m) 21.0 17.3 18.3 17.9

pH 6.4 6.4 [FEREHME] 6.5 6.5 |wRrHfE
SyaaA <0002 <0002 [<0002 [<0002 <0002 [<0 002
PUSHA e R <0.0002 |< 00002 |<0.0002 |<0.0002 |<00002 [<0. 0002
e =/ )~ — <0.0002 |< 00002 |<0.0002 |<0.0002 |<00002 [<0. 0002
l2-vran=r <0.0004 |< 00004 |<0.0004 |<0.0004 [<0 0004 |<O0. 0004
Ll-o/maRTFle <0002 <0002 [<0002 [<0002 [<0002 [<0 002
lL2-vaRTFle <0004 <0004 [<0004 [<0004 <0004 [<O0 004
111 N7eaxsy <0.0005 |< 00005 |<0.0005 |<0.0005 |<0 0005 [<0. 0005
11,2 N7aa=xsy <0.0006 |< 0.0006 |< 0.0006 |< 0.0006 |< 00006 |< 0.0006
NEEEESa%% <0002 <0002 [<0002 [<0002 <0002 [<0 002
F1oan=F L <0.0005 | 00005 | 00005 |<0.0005 |<0 0005 [<0. 0005
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EHE=FV TREMNCES)  GRIEAEESR AW a1 RS 5510) (H{Z :mg/L)

T X ETA 44 Framm Frathm

XA R —R 212 212

X4 =T HAEIR

H[X = 0020 0040

HFES 000100 000100

H PG (m) 50.0 30.0

R FHFE FHFE

HIEX 5y 4 ERAK — % Er A
BAKFHH H25.7.10 | H25.12. 4 H25.7.10 | H25.12. 4

JKIR(°C) 22.4 16.0 17.0 16.5

AR HE (mS/m) 18.0 18.3 15.9 12.9

pH 6.8 6.5 |FHESE 6.5 6.5 |FRFEHE
Truan AR < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
LR igrES < 0.0002 [< 0.0002 (< 0.0002 |<0.0002 (< 0.0002 [< 0.0002
ke = 1%/ ~v— < 0.0002 [< 0.0002 (< 0.0002 |<0.0002 (< 0.0002 [< 0.0002
1,2-/unx iy < 0.0004 (< 0.0004 (< 0.0004 |[<0.0004 (< 0.0004 (< 0.0004
1,1-Y/onxFlL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y/muxFlL < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
1,1,1-R)rmax=k < 0.0005 [< 0.0005 (< 0.0005 |<0.0005 (< 0.0005 [< 0.0005
1,1,2-RN)rmaxk < 0.0006 [< 0.0006 (< 0.0006 |< 0.0006 [< 0.0006 [< 0.0006
N ZvoxF1L < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
VAl /A== S % 0.0012 < 0.0005 0.0009 0.0012 0. 0005 0.0009
T X ETA 44 FERIEHET SEHET

XA R —R 361 384

H1 X 4 AH = Sk HhBEHT

H[X = 0010 1030

HFEES 001000 000500

H PG (m) 130.0 1~EH

& RH P FHFE Nz

HIEX 5y TEAK A ERAK
BAKFHH H25.7.11 | H25.12. 4 H25.7.8 H25.12.3

JKIR(°C) 21.3 14.2 18.5 15.0

AR HE (mS/m) 47.2 35.9 26.7 19.8

pH 7.6 1.6 | HFREEE 6.8 6.8 |FRFEEME
Truan AR < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
LR igrES < 0.0002 [< 0.0002 (< 0.0002 |<0.0002 (< 0.0002 [< 0.0002
ke = 1%/ ~v— 0.0014 0.0027 0.0021 < 0.0002 [< 0.0002 [< 0.0002
1,2-/unx iy < 0.0004 (< 0.0004 (< 0.0004 |[<0.0004 < 0.0004 (< 0.0004
1,1-Y/ouxFlL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y/muxFlL 0.042 0.048 0. 045 < 0.004 < 0.004 < 0.004
1,1,1-R)rmmax=k < 0.0005 [< 0.0005 (< 0.0005 |<0.0005 (< 0.0005 [< 0.0005
1,1,2-RN)rmaxk < 0.0006 (< 0.0006 < 0.0006 [< 0.0006 0.0014 0.0010
N ZvoxF1L 0.021 0.020 0.021 < 0.002 < 0.002 < 0.002
VAl /A== S % < 0. 0005 0. 0005 0.0005 |< 0.0005 [< 0.0005 [< 0.0005
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=V TREMNCES)  GRIEARESR Y AR EHR S 11) (H{Z :mg/L)

i XET A4 SEHAT EESGIKHET

i X E A= —R 384 386

XA = K BT IR

X 1030 0140

ARl 001000 000200

FEF R (m) 13.0 ~HA

& I EHF I~BR

& X5y Z Dt — iR

PKEA R H25.7.12 | H25.12.3 H25.7.8 | H25.12.3

ZKiR(°C) 19.0 16.5 18.5 15.2

AT (mS/m) 44.6 23.4 21.4 21.1

pH 6.5 6.1 | FHVHE 6.7 6.6 | FMHEHE
AE1=5 .5 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
PUHEAR PR 57 <0.0002 |<0.0002 [<0.0002 |<0.0002 (< 0.0002 [<0.0002
Hike =1t /~v— 0. 045 1.4 0.72 < 0.0002 |< 0.0002 [< 0.0002
1,2-Y/manxi < 0.0004 |<0.0004 < 0.0004 |<0.0004 |<0.0004 [<0.0004
L,1-Y/anxzFL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y/anxzF L 0.068 0.30 0.18 <0.004 |<0.004 [<0.004
L1,1-’)rmaxz < 0.0005 |<0.0005 (< 0.0005 |<0.0005 (< 0.0005 [<0.0005
1,1,2-’)rmaxz 0.0011 < 0.0006 0.0009 [< 0.0006 [< 0.0006 [< 0.0006
KN ZonzF1L 0. 005 < 0.002 0.004 |< 0.002 < 0.002 < 0.002
Th7ranFL < 0.0005 |<0.0005 (< 0.0005 |<0.0005 (< 0.0005 [<0.0005
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BT =FY 7R (1K

B

(RN PR &R 527 1)

(B mg/L)

T X ETA 44 €iRM £iR™

XA R —R 201 201

X A AJOwvY AJOwvY

H[X = 0010 0010

HAES 000100 000800

H PG (m) 50.0 100.0

e EHFA EHPE EHPF

HIEX 5y — k& A TEAK
BAKFHH H25.6.25 | H26.2.25 H25.6.27 | H26.2.27

JKIR(°C) 15.7 14.5 15.8 14. 6

AR HE (mS/m) 26.0 25.0 24.0 24.0

pH 6.9 1.0 | FREEE 6.5 6.8 |FEMESfE
A== Y 0 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
VUL iR R < 0.0002 [< 0.0002 (< 0.0002 |<0.0002 (< 0.0002 [<0.0002
1,2-/unx iy < 0.0004 (< 0.0004 (< 0.0004 |[<0.0004 < 0.0004 (< 0.0004
1,1-Y/onxFlL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y/ouxFlL < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
1,1,1-R) a4k < 0.0005 [< 0.0005 (< 0.0005 |<0.0005 (< 0.0005 [< 0.0005
1,1,2-RN)rmpx=k < 0.0006 [< 0.0006 (< 0.0006 |< 0.0006 (< 0.0006 [< 0.0006
N ZvoxF1L < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
VAl /A= 1=t=0 0 % 0.0009 0.0009 0. 0009 0. 0066 0.0058 0.0062
T X ETA 44 €iR™M £iR™

XA R —R 201 201

X A AJOwvY AJOwvY

H[X = 0010 0010

HAES 000900 001000

H P (m) 81.0 80.0

e EHA EHPE EHPE

HIEX 5y 4 ERAK — iz &R A
BAKFHH H25.6.27 | H26.2.27 H25.6.27 | H26.2.27

JKIR(°C) 17.7 13.8 19.6 14.0

AR HE (mS/m) 26.0 25.0 26.0 26.0

pH 6.6 6.9 |FRESE 6.9 1.0 | FREEE
A== Y 0 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
Wi e < 0.0002 [< 0.0002 (< 0.0002 |<0.0002 (< 0.0002 [< 0.0002
1,2-/unx iy < 0.0004 (< 0.0004 (< 0.0004 |[<0.0004 < 0.0004 (< 0.0004
1,1-Y/onxFlL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y/ouxFlL < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
1,1,1-R)rmax=k < 0.0005 [< 0.0005 (< 0.0005 |<0.0005 (< 0.0005 [< 0.0005
1,1,2-RN)rmaxk < 0.0006 [< 0.0006 (< 0.0006 |< 0.0006 [< 0.0006 [< 0.0006
N ZvoxFL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
VAl /A= 1=t=t 0 % 0. 0051 0.0047 0.0049 0.0021 0.0014 0.0018
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BT =FY 7R (1K

B

(RN PR EY) R T 5257 2)

(B mg/L)

T X ETA 44 €iRM £iR™

XA R —R 201 201

X 4 AJOwvY AJOwvY

H[X = 0010 0010

HAES 001100 002000

H PG (m) 80.0 150.0

e EHFA EHPE EHPE

HIEX 5y — &R A 4 ERAK
BAKFHH H25.6.27 | H26.2.27 H25.6.25 | H26.2.25

JKIR(°C) 20.8 12.2 15.7 10.2

AR HE (mS/m) 27.0 27.0 24.0 22.0

pH 6.9 1.0 | FREEE 6.8 1.0 | FREEE
A= i=S Y 0 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
VUL iR SR < 0.0002 [< 0.0002 (< 0.0002 |<0.0002 (< 0.0002 (< 0.0002
1,2-/unx iy < 0.0004 (< 0.0004 (< 0.0004 |[<0.0004 < 0.0004 (< 0.0004
1,1-Y/onxFlL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y/muxFlL < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
1,1,1-F)rmaax=k < 0.0005 [< 0.0005 (< 0.0005 |<0.0005 (< 0.0005 [< 0.0005
1,1,2-RN)rmax=k < 0.0006 [< 0.0006 (< 0.0006 |< 0.0006 |< 0.0006 [< 0.0006
N ZvoxF1L < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
VAl /A= 1=t=0 o % 0.0029 0.0042 0.0036 0.0022 0.0021 0.0022
T X ETA 44 €iRM £iR™

XA R —R 201 201

X 4 BJOwY BJOwY

H[X = 0020 0020

HAES 000200 000400

FH AR (m) 70.0 TBH

B RHF EHPE N:L

HIEX 5y 4 ERAK 4 ERAK
BAKFHH H25.6.25 | H26.2.25 H25.6.26 | H26.2.26

JKIR(°C) 16.2 15.0 17.3 14.0

AR HE (mS/m) 22.0 20.0 21.0 21.0

pH 6.7 6.9 |FRESE 6.7 6.9 |FRESE
A== Y 0 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
VUL iR SR < 0.0002 [< 0.0002 (< 0.0002 |<0.0002 (< 0.0002 [< 0.0002
1,2-/unx iy < 0.0004 (< 0.0004 (< 0.0004 |[<0.0004 < 0.0004 (< 0.0004
1,1-Y/onxFlL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y/uuxFlL < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
1,1,1-F)rmaax=k < 0.0005 [< 0.0005 (< 0.0005 |<0.0005 (< 0.0005 [< 0.0005
1,1,2-RN)rmax=k < 0.0006 [< 0.0006 (< 0.0006 |< 0.0006 [< 0.0006 [< 0.0006
N ZvaoxF1L < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
VAl /A= 1=t=0 % 0. 0061 0.0054 0.0058 0.0097 0.012 0.011
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BT =FY 7R (1K

B

(RN PR R &R T F2HE 5 3)

(B mg/L)

T X ETA 44 €iRM £iR™

XA R —R 201 201

X 4 BJOwY BJOwY

H[X = 0020 0020

HAES 001000 001500

H PG (m) 158.0 80.0

e EHFA EHPE EHPE

HIEX 5y — &R A 4 ERAK
BAKFHH H25.6.26 | H26.2.26 H25.6.26 | H26.2.26

JKIR(°C) 20.7 14.7 17.5 11.0

AR HE (mS/m) 18.0 18.0 18.0 16.0

pH 6.6 6.8 |FMESE 6.6 6.8 |FEMEfE
A= i=S Y 0 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
VUL iR SR < 0.0002 [< 0.0002 (< 0.0002 |<0.0002 (< 0.0002 (< 0.0002
1,2-/unx iy < 0.0004 (< 0.0004 (< 0.0004 |[<0.0004 < 0.0004 (< 0.0004
1,1-Y/onxFlL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y/muxFlL < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
1,1,1-F)rmaax=k < 0.0005 [< 0.0005 (< 0.0005 |<0.0005 (< 0.0005 [< 0.0005
1,1,2-RN)rmax=k < 0.0006 [< 0.0006 (< 0.0006 |< 0.0006 |< 0.0006 [< 0.0006
N ZvoxF1L < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
VAl /A= 1=t=0 o % 0.0038 0.0068 0.0053 0.014 0.023 0.019
T X ETA 44 €iRM £iR™

XA R —R 201 201

X 4 BJOwY BJOwY

H[X = 0020 0020

HAES 001700 002200

H PG (m) 85.0 80.0

e EHFA EHPE EHPE

HIEX 5y 4 ERAK 4 ERAK
BAKFHH H25.6.26 | H26.2.26 H25.6.25 | H26.2.25

JKIR(°C) 20.0 4.0 19.8 13.0

AR HE (mS/m) 28.0 23.0 22.0 22.0

pH 7.0 7.1 AE [ E 1.2 1.3 | HFREEE
A== Y 0 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
VUL iR SR < 0.0002 [< 0.0002 (< 0.0002 |<0.0002 (< 0.0002 [< 0.0002
1,2-/unx iy < 0.0004 (< 0.0004 (< 0.0004 |[<0.0004 < 0.0004 (< 0.0004
1,1-Y/onxFlL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y/uuxFlL < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
1,1,1-F)rmaax=k < 0.0005 [< 0.0005 (< 0.0005 |<0.0005 (< 0.0005 [< 0.0005
1,1,2-RN)rmax=k < 0.0006 [< 0.0006 (< 0.0006 |< 0.0006 [< 0.0006 [< 0.0006
N ZvaoxF1L < 0.002 0.002 0.002 < 0.002 < 0.002 < 0.002
VAl /A= 1=t=0 % 0. 0060 0. 0081 0.0071 0. 0052 0.0053 0.0053
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BT =FY 7R (1K

B

(RN PR R &R T 52 hE 7 4)

(B mg/L)

T X ETA 44 €iRM £iR™

XA R —R 201 201

X 4 BJOwY BJOwY

H[X = 0020 0020

HAES 002300 002400

H PG (m) 100.0 120.0

e EHFA EHPE EHPE

HIEX 5y 4 ERAK 4 ERAK
BAKFHH H25.6.25 | H26.2.25 H25.6.26 | H26.2.26

JKIR(°C) 15.2 14.1 19.0 12.8

AR HE (mS/m) 20.0 18.0 17.0 16.0

pH 7.3 1.4 | FREEE 7.0 1.2 | FREEE
A= i=S Y 0 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
VUL iR SR < 0.0002 [< 0.0002 (< 0.0002 |<0.0002 (< 0.0002 (< 0.0002
1,2-/unx iy < 0.0004 (< 0.0004 (< 0.0004 |[<0.0004 < 0.0004 (< 0.0004
1,1-Y/onxFlL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y/muxFlL < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
1,1,1-F)rmaax=k < 0.0005 [< 0.0005 (< 0.0005 |<0.0005 (< 0.0005 [< 0.0005
1,1,2-RN)rmax=k < 0.0006 [< 0.0006 (< 0.0006 |< 0.0006 |< 0.0006 [< 0.0006
N ZvoxF1L < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
VAl /A= 1=t=0 o % 0.0011 0.0013 0.0012 0.0008 0. 0006 0. 0007
T X ETA 44 €iRM £iR™

XA R —R 201 201

X 4 BJOwY BJOwY

H[X = 0020 0020

HAES 003200 003700

H PG (m) 150.0 80.0

e EHFA EHPE EHPE

HIEX 5y 4 ERAK 4 ERAK
BAKFHH H25.6.26 | H26.2.26 H25.6.26 | H26.2.26

JKIR(°C) 14.2 13.0 16.5 15.0

AR HE (mS/m) 22.0 21.0 21.0 21.0

pH 6.7 6.9 |FRESE 6.7 6.9 |FRESE
A== Y 0 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
VUL iR SR < 0.0002 [< 0.0002 (< 0.0002 |<0.0002 (< 0.0002 [< 0.0002
1,2-/unx iy < 0.0004 (< 0.0004 (< 0.0004 |[<0.0004 < 0.0004 (< 0.0004
1,1-Y/onxFlL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y/uuxFlL < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
1,1,1-F)rmaax=k < 0.0005 [< 0.0005 (< 0.0005 |<0.0005 (< 0.0005 [< 0.0005
1,1,2-RN)rmax=k < 0.0006 [< 0.0006 (< 0.0006 |< 0.0006 [< 0.0006 [< 0.0006
N ZvaoxF1L < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
VAl /A= 1=t=0 % 0. 050 0.070 0. 060 0.0048 0. 0046 0.0047
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BT =FY 7R (1K

B

(RN PR R &R T F2HE575)

(B mg/L)

T X ETA 44 €iRM £iR™

XA R —R 201 201

X 4 BJOwY BJOwY

H[X = 0020 0020

HAES 003900 004500

H PG (m) 70.0 49.0

B RHF EHPE N:L

HIEX 5y — &R A 4 ERAK
BAKFHH H25.6.25 | H26.2.25 H25.6.26 | H26.2.26

JKIR(°C) 15.7 14.0 19.5 15.6

AR HE (mS/m) 15.0 13.0 19.0 18.0

pH 7.1 1.0 | FREEE 6.5 6.7 |FRCEEE
A= i=S Y 0 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
VUL iR SR < 0.0002 [< 0.0002 (< 0.0002 |<0.0002 (< 0.0002 (< 0.0002
1,2-/unx iy < 0.0004 (< 0.0004 (< 0.0004 |[<0.0004 < 0.0004 (< 0.0004
1,1-Y/onxFlL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y/muxFlL < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
1,1,1-F)rmaax=k < 0.0005 [< 0.0005 (< 0.0005 |<0.0005 (< 0.0005 [< 0.0005
1,1,2-RN)rmax=k < 0.0006 [< 0.0006 (< 0.0006 |< 0.0006 |< 0.0006 [< 0.0006
N ZvoxF1L < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
VAl /A= 1=t=0 o % 0. 0006 0. 0006 0. 0006 0.0077 0.010 0.0089
T X ETA 44 €iRM £iR™

XA R —R 201 201

X 4 BJOwY BJOwY

H[X = 0020 0020

HAES 004600 005000

H PG (m) 101.0 85.0

B RHF EHPE N:L

HIEX 5y 4 ERAK 4 ERAK
BAKFHH H25.6.25 | H26.2.25 H25.6.25 | H26.2.25

JKIR(°C) 15.7 12.5 18.8 11.8

AR HE (mS/m) 24.0 22.0 26.0 24.0

pH 7.3 1.4 | FREEE 7.0 7.1 AE [ E
A== Y 0 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
VUL iR SR < 0.0002 [< 0.0002 (< 0.0002 |<0.0002 (< 0.0002 [< 0.0002
1,2-/unx iy < 0.0004 (< 0.0004 (< 0.0004 |[<0.0004 < 0.0004 (< 0.0004
1,1-Y/onxFlL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y/uuxFlL < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
1,1,1-F)rmaax=k < 0.0005 [< 0.0005 (< 0.0005 |<0.0005 (< 0.0005 [< 0.0005
1,1,2-RN)rmax=k < 0.0006 [< 0.0006 (< 0.0006 |< 0.0006 [< 0.0006 [< 0.0006
N ZvaoxF1L < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
VAl /A= 1=t=0 % 0.0026 0.0017 0.0022 0. 0051 0.0040 0. 0046
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BT =FY 7R (1K

B

(e FEMEA B SR LB« &R T 520 57 6)

(B mg/L)

T X ETA 44 €iRM £iR™

XA R —R 201 201

X 4 BJOwY BJOwY

H[X = 0020 0020

HAES 005100 006200

FH AR (m) 90.0 TBH

B RHF EHPE N:L

HIEX 5y 4 ERAK — k&R A
BAKFHH H25.6.26 | H26.2.26 H25.6.25 | H26.2.25

JKIR(°C) 18.5 10.3 18.9 15.0

AR HE (mS/m) 19.0 17.0 22.0 20.0

pH 7.1 1.3 | FREEE 6.8 6.8 |FEMEfE
A= i=S Y 0 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
VUL iR SR < 0.0002 [< 0.0002 (< 0.0002 |<0.0002 (< 0.0002 (< 0.0002
1,2-/unx iy < 0.0004 (< 0.0004 (< 0.0004 |[<0.0004 < 0.0004 (< 0.0004
1,1-Y/onxFlL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y/muxFlL < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
1,1,1-F)rmaax=k < 0.0005 [< 0.0005 (< 0.0005 |<0.0005 (< 0.0005 [< 0.0005
1,1,2-RN)rmax=k < 0.0006 [< 0.0006 (< 0.0006 |< 0.0006 |< 0.0006 [< 0.0006
N ZvoxF1L < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
VAl /A= 1=t=0 o % 0.0026 0.0030 0.0028 0.0044 0.0039 0.0042
T X ETA 44 €iRM £iR™

XA R —R 201 201

X 4 cJaowvy cJaowvy

H[X = 0030 0030

HAES 000100 000500

H PG (m) 80.0 75.0

e EHFA EHPE EHPE

HIEX 5y 4 ERAK 4 ERAK
BAKFHH H25.6.27 | H26.2.27 H25.6.27 | H26.2.27

JKIR(°C) 22.17 8.5 17.8 13.6

AR HE (mS/m) 21.0 20.0 19.0 19.0

pH 6.3 6.5 |FRESE 6.6 6.5 |FHESE
A== Y 0 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
VUL iR SR < 0.0002 [< 0.0002 (< 0.0002 |<0.0002 (< 0.0002 [< 0.0002
1,2-/unx iy < 0.0004 (< 0.0004 (< 0.0004 |[<0.0004 < 0.0004 (< 0.0004
1,1-Y/onxFlL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y/uuxFlL < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
1,1,1-F)rmaax=k < 0.0005 [< 0.0005 (< 0.0005 |<0.0005 (< 0.0005 [< 0.0005
1,1,2-RN)rmax=k < 0.0006 [< 0.0006 (< 0.0006 |< 0.0006 [< 0.0006 [< 0.0006
N ZvaoxF1L < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
VAl /A= 1=t=0 % 0.0037 0.0026 0.0032 0. 0005 0.0011 0.0008
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BT =FY 7R (1K

B

(RN BRI EY) &R FE 50 T)

(B mg/L)

T X ETA 44 €iRM £iR™

XA R —R 201 201

X 4 cJaowvy cJaowvy

H[X = 0030 0030

HAES 000800 001300

H PG (m) 60.0 100.0

e EHFA EHPE EHPE

HIEX 5y — &R A 4 ERAK
BAKFHH H25.6.27 | H26.2.27 H25.6.27 | H26.2.27

JKIR(°C) 17.0 15.8 20.4 12.6

AR HE (mS/m) 27.0 26.0 25.0 24.0

pH 6.4 6.6 |FMCESfE 6.6 6.7 |FRCEEE
A= i=S Y 0 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
VUL iR SR < 0.0002 [< 0.0002 (< 0.0002 |<0.0002 (< 0.0002 (< 0.0002
1,2-/unx iy < 0.0004 (< 0.0004 (< 0.0004 |[<0.0004 < 0.0004 (< 0.0004
1,1-Y/onxFlL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y/muxFlL < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
1,1,1-F)rmaax=k < 0.0005 [< 0.0005 (< 0.0005 |<0.0005 (< 0.0005 [< 0.0005
1,1,2-RN)rmax=k < 0.0006 [< 0.0006 (< 0.0006 |< 0.0006 |< 0.0006 [< 0.0006
N ZvoxF1L < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
VAl /A= 1=t=0 o % 0.0023 0.0022 0.0023 0.0058 0.0044 0. 0051
T X ETA 44 €iRM £iR™

XA R —R 201 201

H1 X 44 cawvy DJRvY

H[X = 0030 0040

HAES 002200 000600

H PG (m) 79.0 50.0

B RHF EHPE N:L

HIEX 5y 4 ERAK — k&R A
BAKFHH H25.6.25 | H26.2.25 H25.6.27 | H26.2.27

JKIR(°C) 17.8 15.0 15.6 14. 3

AR HE (mS/m) 17.0 18.0 13.0 14.0

pH 6.2 6.5 |FRESE 6.7 6.8 |FEMEfE
A== Y 0 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
VUL iR SR < 0.0002 [< 0.0002 (< 0.0002 |<0.0002 (< 0.0002 [< 0.0002
1,2-/unx iy < 0.0004 (< 0.0004 (< 0.0004 |[<0.0004 < 0.0004 (< 0.0004
1,1-Y/onxFlL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y/uuxFlL < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
1,1,1-F)rmaax=k < 0.0005 [< 0.0005 (< 0.0005 |<0.0005 (< 0.0005 [< 0.0005
1,1,2-RN)rmax=k < 0.0006 [< 0.0006 (< 0.0006 |< 0.0006 [< 0.0006 [< 0.0006
N ZvaoxF1L < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
VAl /A= 1=t=0 % 0.0032 0. 0046 0.0039 0.0016 0.0017 0.0017
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BT =FY 7R (1K

B

(RN B SR &R T F2HE 57 8)

i XET A4 &R

i X E A= —R 201

X4 DJovYy

X 0040

ARl 000800

FEF R (m) 140.0

& I il

& X5y — iR

BKEA R H25.6.27 | H26.2.27

ZKiR(°C) 16.2 15.3

B SURIE R (mS/m) 15.0 14.0

pH 6.0 6.1 | FHVHE
AE1=5 .5 < 0.002 < 0.002 < 0.002
PUHEAR IR 57 < 0.0002 |< 0.0002 [< 0.0002
1,2-Y/manxi < 0.0004 |< 0.0004 < 0.0004
L,1-Y/anxzFL < 0.002 < 0.002 < 0.002
1,2-Y/anxzF L <0.004 |<0.004 [<0.004
L,1,1-F)rmuxz < 0.0005 |< 0.0005 [< 0.0005
1,1,2-’)rmaxz < 0.0006 |< 0.0006 |< 0.0006
KN ZonxzF1 < 0.002 < 0.002 < 0.002
VALNZA= =5l 0.0006 (< 0.0005 0. 0006
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EHE=FV 7 RE KR AR

(B35 ) 15 0 57 1)

(B i mg/L)

T XHT R 44 IMATH IMATH

i XHET R = —R 203 203

Hit X 44 [E=] BT L /MRET

X 5 0050 0600

HEE 000100 000100
FEFTREE(m) 70.0 BH

R RHPF B

FHIEIX 5y TERAK Z D

BKAEH A H25.7.4 | H25.12.10 H25.7.4  H25.12.10

KIE(C) 19.0 17.4 19.0 15.7

HBRURE R (mS/m) 47.7 36.5 42.2 32.4

pH 1.2 1.4 MR 1.3 1.4 MR
== 0.017 0.023 0.020 0.025 0.025 0.025
T XHT A4 IMATH EM

i XHE R = —R 203 206

Hi X 44 S HNET H ST

X5 0630 0620

HEE 000200 000100

PR EE (m) 4.5 22.0

&R B B

XSy Z D ATERK

BKAEH R H25.7.2 — H25.7.25  H25.12.5

ZKIE(C) 13.2 18.0 18.0

HXURE R (mS/m) 18.7 37.3 30.0

pH 6.7 M EE 6.8 1.2 M EE
== 0. 006 0.006 0.027 0.017 0.022
7P 4 PIVET P

i XHE R = —R 207 207

Hit X 4 EEHT AEER

X 5 0050 0120

HFEE 000600 000100
FFREE(m) B 130.0

&R EHF RHP

XSy Z D Z D

BKAEH A H25.7.11 | H25.12.3 H25.7.11 | H25.12.3

KIE(C) 19.0 14.1 19.0 15.2

HXURE R (mS/m) 33.1 35.4 29.0 27.3

pH 8.4 8.3 M EEE 8.5 8.4 M EE
== 0.009 0.008 0.009 0.010 0.009 0.010
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EHE=FV 7 RE KR AR

(B35 ) 1| B 5 0 572)

(B i mg/L)

T XHT R 44 P P

i XHET R = —R 207 207

Hit X 4 AGTHET KJIIET

X 5 0130 0250

HE& 000100 000500
FEFTREE(m) 60.0 BH

&R RHP B

FHIEIX 5y TEAK Z D

BRKAEH A H25.7.11 | H25.12.3 H25.7.11 | H25.12.3

KIE(C) 18.0 16.5 19.0 18.3

HBRURE R (mS/m) 25.17 24.5 26.5 24.8

pH 6.9 6.7 R 8.2 8.1 R
=3 0.028 0.010 0.019 0.010 0.009 0.010
T XHT A4 FIvET R T

i XHE R = —R 207 365

Hi X 44 FIVEHT bz}

X 5 0270 0070

HEE& 000100 000100

PR EE (m) 50.0 4.0

R B EHF

XSy ATERK ATERK

BKAEH A H25.7.11 | H25.12.3 H25.7.11  H25.12.4

KIE(C) 19.0 11.0 22.0 18.0

HXURE R (mS/m) 42.9 41.5 29.2 23.7

pH 8.3 8.3 A E 6.8 7.0 M EE
== 0.009 0.009 0.009 < 0.005 0.015 0.010
T XHTA 44 BT 7N IKHET

i XHE R = —R 384 461

Hi X 44 BRI RH

X5 1040 0040

HFEE 000200 000100

FH P EREE (m) 4.0 30.0

&R B RHP

XSy Z D1 ATERK

BKAEH A H25.7.8  H25.12.3 H25.7.10 = H25.12.3

KIE(C) 19.0 14.5 16.0 13.9

HXURE R (mS/m) 45.7 33.8 25.4 18.8

pH 7.6 1.7 A EE 1.0 7.1 A EEE
== 0.012 0.008 0.010 0.010 0.010 0.010
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EHE=2V TREG

(B35 ) 1| L 5 0 57 3)

(B i mg/L)

T XHT R 44 7V IKHET 7V IKHT

i XHET R = —R 461 461

Hit X 4 s #’r &

X 5 0060 0140

HE& 001100 000100

FF R (m) A 65.0

&R B RHPF

FHIEIX 5y — &R ATERAK

BRKAEH A H25.7.10 | H25.12.3 H25.7.10 = H25.12.3

KIE(C) 14.5 13.9 15.7 15.8

HBRURE R (mS/m) 20.5 15. 4 14.8 10.8

pH 6.1 6.1 R 6.9 6.9 R
=3 < 0.005 < 0.005 < 0.005 0.025 0.014 0.020
T XHT A4 7N IKHET 7V IKHET

i XHE R = —R 461 461

Hit X 4 #’r & tiE

X 5 0140 0150

HEE& 000400 000100

PR EE (m) 60.0 5.0

R EHF EHF

XSy ATERK ATERK

BKAEH A H25.7.10 | H25.12.3 H25.7.10 = H25.12.3

KIE(C) 15.5 14.9 13.5 14.5

HXURE R (mS/m) 15.5 1.1 15.5 10.9

pH 6.8 6.8 A E 1.0 7.0 M EE
== 0.013 0.015 0.014 0.008 0.008 0.008
7P 4 Ae AT AEEEET

i XHE R = —R 463 463

Hi X 44 FHELS N

X5 0010 0240

HFEE 000600 000200

FH P EREE (m) <ER 10.0

&R B EHF

XSy ATERK ATERK

BKAEH A H25.7.9 | H25.12.3 H25.7.9  H25.12.3

KIE(C) 17.8 16. 6 14.5 16.0

HXURE R (mS/m) 28.4 23.9 34.7 26.5

pH 9.2 9.3 A EE 1.3 7.1 A EEE
== 0.011 0.011 0.011 0.009 0.008 0.009
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EME=FY TR EGMCESD) (R EE R K O AE R M 2256 - ) 1R S0 57) (HAZ :mg/L)
T PXCHT A4 INATH INEATH
X E A= —R 203 203
HiX 4 T EHT ] A $r T
H X5 0460 0510
HAES 000200 000100
HFEREE(m) 4.0 4.0
&R EHP EBHF
XSy ATERK TEMAK
BKFEH A H25.7.2 | H25.12.6 H25.7.2 | H25.12.6
KIE(CC) 14.5 16.4 18.5 17.5
EXUSEH (mS/m) 20.4 14.4 34.9 43.7
pH 6.7 6.6 | FHTEIE 6.4 6.2 |FRHEHIE
Rl Y AN =] 7 e 1.2 1.6 1.4 6.2 33 20
EME=FVTRE@GEL)  (TyF: AR S)) (HAZ :mg/L)
T PXCHT A4 mEm mEm
X E A= —R 206 206
HiX 4 hnEeET hn BT
H X5 0370 0370
HAES 000200 000300
F R (m) 5.0 Nz
&R EHP N
XSy ZDfth ATERK
BKFEH A H25.7.18 | H25.12.5 H25.7.18 | H25.12.5
KIE(C) 24.9 10.8 19.0 15.4
EXUSEH (mS/m) 31.5 53.2 22.2 20.0
pH 7.1 1.3 | FRHEEE 6.6 6.8 |FRHEHIE
TV 0.95 0.95 0.95 0.12 0.12 0.12
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EME=FV TREGMGEER)  RUHE: Al RIS (BT :mg/L)
T XHTR 44 IMATH INATH
T XEffa—R 203 203
HuX 4 R HEHET PN
Hh X 35 0450 0470
FAE S 000400 000200
FE VR (m) 5.0 ;L
HeRHF EHF ~BA
PR X 5y HSEAK Z0ith
BKFEH A H25.7.4 | H25.12.6 H25.9.10 | H26.2.6
KIE(C) 18.3 16.7 24.8 8.5
XA (mS/m) 9.1 7.9 10.3 12.1
pH 5.8 5.8 | FMIEHMHE 6.5 6.8 |FMTEHMHE
NS <0.1 <0.1 <0.1 <0.1 <0.1 <0.1
7 X AT 4 MRTH
XA —R 203
Hi1 X 4 {EN A BT
Hh X 0620
FAE S 000200
FHE VR (m) N
T RHF EHF
PR X 5y Z Dt
AR A - H25.12.10
JKIE(C) 17.0
ERUAEHE (mS/m) 70.5
pH 7.6 | FEREHE
Ve 0.3 0.3
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